Passive  voice
Change  the sentences  from  active  into  passive  voice.
1.We  will  reduce air  pollution  if we use  means of public  transport  instead  of  cars.
_________________________________________________________________________
2.Companies  must train  employees  regularly   so that  they  can  implement  new technologies.
___________________________________________________________________________
3.We  can  reduce  the  harmful  effects  of cell phones  if  we  don’t  allow  children  to use them.
___________________________________________________________________________4. By  the  end of the  century, man  will probably  have  discovered   the  cure  for  cancer.
___________________________________________________________________________
KEY
1.Air  pollution  will  be  reduced  if  means  of  transport  are  used instead  of  cars.
2.Employees  must  be  trained  regularly  by  companies  so  that  they   can  implement  new  technologies.
3.We  can  reduce  the  harmful  effects  of  cell phones  if  children  are  not  allowed  to  use  them.
4.By  the  end of  the  century,   the  cure  for  cancer  will  probably  have  been  discovered.
